

$\frac{a}{q} + a + aq = 11 \xrightarrow{a=f} \frac{f}{q} + f + fq = 11 \xrightarrow{f=1} \frac{1}{q} + 1 + q = 11 \xrightarrow{q=1} \frac{1}{1} + 1 + 1 = 3 \neq 11$
 $\frac{a}{q} \times a \times aq = 11 \xrightarrow{a=f} a^3 = 11 \Rightarrow a = \sqrt[3]{11}$
 $1f + f + 1 = 11 \Rightarrow f = 5$
 $\Rightarrow q = \frac{1}{f} = \frac{1}{5}$
 $\Rightarrow q = \frac{1}{5}$ ✓

$(12)^t = (2^t + 1)(2^t - 1) \rightarrow 12^t = 2^t + 12^t - 1 \rightarrow 12^t = 2^t - 1 \rightarrow 2^t - 12^t - 1 = 0$
 $\rightarrow t = 2^t \rightarrow t^2 - t - 1 = 0 \rightarrow \frac{1 \pm \sqrt{5}}{2} = \frac{1 \pm \phi}{2} \rightarrow t = \phi \rightarrow 2^t = \phi \rightarrow 2 = \phi$
 $\rightarrow \phi + \phi, \phi, \phi - 1 \rightarrow 1, \phi, 1, 0, 0 \rightarrow q = \frac{1}{\phi}$
 $S_V = 1 \left(\frac{1 - r^V}{1 - r} \right) = \left(\frac{12V}{1} \right)$

$$S_{\omega} = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 (1 + q + q^2 + q^3 + q^4) \Rightarrow a_1 = \frac{r}{1+r}$$

$$\rightarrow \frac{r}{1+r} (1 + q + q^2 + q^3 + q^4) = \frac{r}{1+r} \times \frac{1}{1} = \frac{r}{1+r}$$

$$\rightarrow S_{\omega} = \frac{r}{1+r}$$

$$d = \frac{y_E - 1}{\omega + 1} = \frac{y^{\mu}}{e} = 10/\omega \rightarrow \begin{matrix} \text{جمله} \\ \text{اول} \end{matrix} \rightarrow \begin{matrix} \text{جمله} \\ \text{دوم} \end{matrix} \rightarrow \begin{matrix} t_F = t_1 + r d = 1 + r/\omega = r/\omega = A \\ t_n = t_1 + (n-1)d \end{matrix}$$

$$d = \frac{-9d}{\epsilon} - \left(\frac{9s}{\epsilon} = \frac{1}{\epsilon} \rightarrow t_n = t + (n-1)d \rightarrow t_{101} = t + 100 \times \frac{1}{\epsilon} = 1 \right)$$

$$(t_1 + rd)(t_1 + \lambda d) = (t_1 + qd)^r \rightarrow t_1^r + 10t_1d + 10d^r = t_1^r + r^2qd + 1r^2t_1d$$

$$\rightarrow +rtd + 10d^r = 0 \rightarrow +rd(t_1 + 10d) = 0 \rightarrow rd = 0 \rightarrow d = 0$$

$$d_1 = t_1 + rd$$

$$d_1 = t_1 + qd$$

$$t_9 = t_1 + \lambda d$$

$$t_1 \times t_9 = (t_v)^r$$

$$d = \frac{t_1}{10} \leq 0$$

بیش از ۱۰ برابر
در ۱۰ برابر می شود
ثابت می ماند

$t_1 + 10d = 0$
 $\rightarrow d = \frac{t_1}{10}$
 $\rightarrow d = 0$

$$a_r = a_1 + d$$

$$a_f = a_1 + rd$$

$$a_n = a_1 + vd$$

$$a_r = rd, a_f = fd, a_n = \lambda d$$

$$(a_f)^r = a_r \times a_n \rightarrow a_1^r + r^2qd + qd^r = a_1^r + \lambda qd + vd^r$$

$$rd^r = ra_1d \rightarrow rd = ra_1 \rightarrow a_1 = d$$

$$q = \frac{a_f}{a_r} = \frac{fd}{rd} = r \rightarrow t_n = t_1 q^{n-1}$$

$$t_n = \frac{1}{r} \times r^n$$

$$t_{10} = \frac{1}{r} \times r^9 = r^8 \times \frac{1}{r} = r = 128$$

در ۱۲۸ برابر می شود

$$t_1 = r^9 a_q, r^9 a_q, a_q \rightarrow r^9 b = a + c \rightarrow r^9 a q^r = r^9 a q + a q^r \rightarrow r^9 a q^r = a q (r + q)$$

$$\rightarrow r^9 q = r + q^r \rightarrow q^r + r - r^9 q = 0 \rightarrow (q-1)(q-r) = 0$$

$$q = 1 \text{ یا } q = r$$

چون در ۱۲۸ برابر می شود

$$d = \frac{v}{r} - \frac{\lambda}{r} = -\frac{1}{r}$$

$$\rightarrow t_n = r + (n-1)\left(-\frac{1}{r}\right)$$

$$\left\{ \begin{array}{l} b_1 = \frac{\omega}{r} + k \\ b_r = \frac{1}{r} + k \\ b_n = -1 + k \end{array} \right\} \rightarrow b_i \times b_j = b_i + b_j$$

$$\rightarrow \left(\frac{1}{r} + k\right)^r = (k-1)\left(k + \frac{\omega}{r}\right) \rightarrow k^r + \frac{1}{r}k + \frac{1}{r^2} = k^r + \frac{1}{r}k - \frac{\omega}{r} \rightarrow \frac{1}{r}k - \frac{1}{r}k = -\frac{\omega}{r} - \frac{1}{r^2}$$

$$\rightarrow \frac{1}{r}k = -\frac{r1}{r^2}$$

$$r = \frac{b_r}{b_1} = \frac{\frac{1}{r} - \frac{r1}{r}}{\frac{\omega}{r} - \frac{r1}{r}} = -\frac{\omega}{r} \rightarrow r = \frac{\omega}{r}$$

$$b_1 = a_1, b_r = a_1 r^r, b_n = a_1 r^n \rightarrow b_1 + b_r + b_n = v r^r \rightarrow a(1 + r^r + r^n) = v r^r \rightarrow v r^r$$

$$A_1, A_r, A_{10} \rightarrow A_1 = a, A_r = ar^r, A_{10} = ar^n \rightarrow A_n = A_1 + (n-1)d$$

$$\Rightarrow A_r = a + d \times ar^r, A_{10} = a + 9d = ar^n, a + d = ar^n \Rightarrow d = a(r^n - 1)$$

$$a + 9d = ar^n \rightarrow a + 9a(r^n - 1) = ar^n \rightarrow a(1 + 9(r^n - 1)) = ar^n$$

$$1 + 9r^n - 9 = r^n \Rightarrow 9r^n - \lambda = r^n \Rightarrow r^n - 9r^n + \lambda = 0 \rightarrow r = \frac{9 \pm \sqrt{81 - 4\lambda}}{2}$$

$$d = a(r^n - 1) \Rightarrow d = a(v) = va \Rightarrow a(1 + \lambda + 9d) = v r^r \rightarrow v r^r a = v r^r \rightarrow a = 1$$

$$d = va \Rightarrow d = v$$

۱، ۵

$r = 1 \rightarrow r = 1$

$r = 2 \rightarrow r = 2$

$d = 0$ قابل قبول است.

$$a r^r = a = d = 0 \rightarrow \frac{v r^r}{r} - \frac{v r^r}{r} = 0$$